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Chapter : Mensuration

(1) 40 men took a dip in a pool 30 m long and 25 m
broad. If the average water displaced by a man is 5 m:,
then what will be the rise (in cm) in level of the pool?

30 HIeX SIFaTS AT 25 HeX HISTE & Ueh dTel 3 40 TS
o gaeht Y| I weh oW et 5 #H: rel
TareaTid #Yar &, A drer & T # fancet gefer (@,
#) grefr?
SSCCGLO8AUG-S3 : 53
(@) 25 (b) 26.66 (c) 27.33

d) 28

(2) The length, breadth and height of a cuboid are in
the ratio 19: 11 : 13. If length is 30 cm more than
height, then what is the volume (in cm: )of this
cuboid?

Teh T BT oIEalTS, TMSTS TUT STS o 31e]aTel 191 11 :
13 1 Ife oS, Fams & 30 AT, 31T &, at =rey r
3T (J.7T: H) el §?

SSCCGLO8AUG-S3 : 55

(a) 81510 (b) 89665

(c) 195300 (d) 339625

(3) If the diameter of a hemisphere is 21 ¢cm, then
what is the volume (in cm? )of hemisphere?

e TR 3187 el &7 o 21 A, &, Y 37T el A
3ade (.7 /) fohder gream?
SSCCGL10AUG-S1: 53

(a) 2810 (b)1250.5
(d) 2425.5

(©)1725.25

(4) Smaller diagonal of a rhombus is equal to length
of its sides. If length of each side is 4 cm, then what is
the area (in cm: of an equilateral triangle with side
equal to the bigger diagonal of the rhombus?

Teh HHAUTSST T BT [ehoT 3HehT M3 T ofFaTS &
R B1 IS I A e Sy rar$ 4 QA §, A 37
Wrg'ﬁsgsra?ra%w(ﬁ.xﬁ.z ) &1 g fSrehr 87T
FHATAS & a3 faehol & e 87

SSCCGL10AUG-S1: 67

(@) 6 (b) 9V3 (0) 12

(d) 1243

(5) One of the diagonal of a rhombus is 70% of the
other diagonal. What is the ratio of area of rhombus
to the square of the length of the larger diagonal?

Teh FHEHST T Ueh faehol ggr faenot &1 70% &1

AT & Aol AT el FaamoT T oTo=aTs & et &

37T 4T 87

SSCCGLO8AUG-S2 : 53

(@ 3:10 (b) 3:20 (0)7:20
(d)7:10

(6) In the given figure, PQRS is a trapezium in which
PM[|SN, NR=9cm, PS=12cm, QM= NR and NR = SN.
What is the area(in cm?) of trapezium?

& 918 3Mh I #, PQRS Ueh THeT § FHA PM|ISN, NR =
9 {.HY, PS = 12cm, QM= NR T NR= SN. (&.#7 1.2 H)
FATE?

P8

Q M N R

SSCCGLOBAUG-S2 : 65

(a) 170 (b) 182 (c) 189
(d) 191

(7) Area of 4 walls of a cuboid 400 sq c¢m, its length is
15 ¢cm and height is 8 cm. What is its breadth (in cm)?
Ueh GATST T 4 SIaRT HT 87Tl 400 F3T F.AY. | 3T
daTs 15 T.A4T. 3R Fars 8 FAY. §| smeht TS (F.A. #)
FATE?
SSCCGL21AUG-S3:53
(@) 12 (b) 20 (c) 24

(d) 10

(8) What is the area (in sq cm) of a regular hexagon of
side 6 cm?
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6 . #. 37T aTel Teh foA G AT WeehIoT T &Y (T3
T, ) Far grem?
SSCCGL22AUG-S2 : 53
(a) 273 (b) 543 (c) 54
(d) 27

(9) AXYZ is similar to APQR. If ratio of perimeters of
AXYZ : APQR is 3:2 and if PQ = 6 cm then what is the
length of XY (in cm)?
AXYZ ¥ APQR & TAT g | T AXYZ 3R APQR &r
ot &1 31T 3: 2 % 3R AR PQ = 6 Afewex &, A
XY & s (TEHeR F) Fa1 87
SSCCGL22AUG-S2 : 68
(c) 12
(d)9

(10) A farmer's land is in the shape of a trapezium
which has its parallel sides measuring 2.56 yards and
3.44 yards and the distance between the parallel sides
in 1.44 yards. The cost of ploughing the land is Rs
1800 per square yard. What amount will (in Rs) have
to be spent in order to plough the entire land?

T a1 & UTH T 3R T STHT § foraer
HHATATCR §[ST3T Y TS 2.56 e AT 3.44 1T & AT
AT A3 H Gl 1.44 37T | ST T St T
Tt 1800 & 9l &91 91a1 & | G STt bl Siteied & forw
forder TITRY (% &) T grefr?
SSCCGLO5AUG-S3 : 53
(a) 3672 (b) 6732 (c) 7776

(d) 8214

(11) If medians of a triangle have lengths 18 cm, 24
c¢m and 30 cm, then what is the area (in cm?) of the
triangle?
I wan agar it AfaIat 1 orwars 18 4.3, 24 QA
T 30 AT, B, A FagaT ohr avathel (@A, 2 ) AT ?
SSCCGLO5AUG-S3 : 66
(a) 246 (b) 244 (c) 288

(d) 360

(12) Two smaller circles touch a large circle internally
and pass through the center O of the larger circle. If
the diameter of the bigger circle is 28 cm, then what is
the area of the bigger circle which is not enclosed by
the two smaller circles (in cm?)?

&l oTE] e Teh &TEl el T JHTcTiReh T el § T el gt
& g O W IR ¢ I &el gef ot =g 28 WA, &,
&Yl gl o af &Thel (V.12 #) T &, S et oy gt
CaRT Helfald o161 87
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SSCCGLO5AUG-S3 : 67
(a) 154 (b) 256 (c) 308
(d) 616

(13) The ratio of the volume of two cylindersis 7 : 3
and the ratio of their heights is 7 : 9. If the area of the
base of the second cylinder is 154 cmz, then what will
be the radius (in cm) of the first cylinder?
2 =T o 3T T 3O 7 : 3 § T 3oTehl STS &l
AT 72 9 &1 Afe G SofeT & 3R T &1l 154
{7 §, A uger SoreT S e (@ /) Fr greire
SSCCGL10AUG-S2 : 53
(@ 6\2 (b) 6V3 (© 72

(d) 743

(14) In triangle ABC, AD, BE and CF are the medians
intersecting at point G and area of triangle ABC is 156
cm: What is the area (in cm: of triangle FGE?
38751 ABC & #IfahIT AD, BE 31K CF fiig G WX
gfcresie HXcl § 7T 87T ABC T &iathel 156 9.4 B
T38[ST FGE 7 &1ther (8.1 #) fohciar 87
SSCCGL10AUG-S2 : 65
(a) 13 (b) 26 (c) 39

(d) 52

(15) The length of diagonal of a square is 9V2 cm. The
square is reshaped to form a triangle. What is the
area (in cm2)of largest incircle that can be formed

in that triangle?

Teh g & Tenol Y ooaTs V2 AT B 50 a9 Rl T
TR SR [ABTST AT ST &1 38 AT o Faq 13
37l g T &1l (Q.7.2 #) T §?
SSCCGL10AUG-S2 : 67
(a) 6 (b) 9nt (©) 12n

(d) 151

(16) Three solid spheres of radius 3 cm, 4 cm and 5
c¢m are melted and recasted into a solid sphere. What
will be the percentage decrease in the surface area?

3TH, 4 QA qUT5 A & A el T TATATRT T
B Tl T 31T FT STl 1 G817 &1thed / fohetol
gfaera $r foRrae gefe?
SSCCGLO9AUG-S1 : 53
(@) 12 (b) 14 (c) 16

(d) 28

(17) In triangle ABC, a line is drawn from the vertex A
to a point D on BC. If BC = 9 cm and DC = 3 cm, then
what is the ratio of the areas of triangle ABD and
triangle ADC respectively?
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337 ABC #, 2§ A & BC &R a1 Tah ffg D e X@r
g g afigBCc=9@ A qarpc =37 § ar
AT FA3ST ABD T 33751 ADC & &l hr 3HefaTct
&1 g1aTm?

SSCCGLO9AUG-S1 : 65

(@ 1:1 (b)y2:1 (©)3:1
(dy4:1

(18) The length of two parallel sides of a trapezium
are 18 m and 24 m. If its height is 12 m, then what is
the area (in m? of the trapezium ?
Teh THTFS T & FHICT T3 T oaTS 18 Hiey T
24 e &) I 3T Fars 12 FAeX §, O oo &7
&ahe (H: 7) e §?
SSCCGLO9AUG-S2 : 53
(a) 126 (b) 252

(d) 1024

(19) Smaller diagonal of a rhombus is equal to length
of its sides. If length of each side is 6 cm, then what is
the area (in cm? of an equilateral triangle whose side

is equal to the bigger diagonal of the rhombus?

Teh GHUHST T BICT TaehoT ST $TSTI3 T FaTS &

T 1 e T 87t At wrars 6 WA B, ot 39
HASTE 37T T ATl (F.HY.2 ) 2T & ST sptm
IS & o3 faehol & s 87
SSCCGLO9AUG-S2 : 67
(a) 18v3 (b) 2773 (c) 32V3

(d) 36\3

(20) If the areas of two similar triangle are in the ratio
5:7, then what is the ratio of the corresponding sides
of these two triangles?

e ar FHTe 8T & &Yool T 3]l 5: 7 &, Al gof ar
TA8YSHT BT AT ST3HT T JHeTared T &7
SSCCGL11AUG-S1 : 66

(@5:7 (b) 25: 49

(©) V5 : 7 (d) 125 : 343

(21) Due to increase of k% in the side, the area of a
square increases by 69%. What is the value of k?

I T ST & k% T Jefer glet & 0T q97 oh &bl 7
69% hT IS BIC &1 k T AT T 87
SSCCGL12AUG-S1:58
() 30 (b) 33 (c) 34.5

(d) 35

(22) If sum of the areas of the circumcircle and the

Free Study Material Join: Telegram.me/ExamsCart

incircle of an equilateral triangle is 770 cmz, then what
is the area (in cm? of the triangle?

fe; Toh FHSTE FaTel o STEd Il TUT I & Sl
1 T 770 A2 , AT TS T &Tthol (G.#73)
&7

SSCCGL12AUG-S1: 68

(a) 1253 (b) 14773 (c) 15673
(d) 1693

(23) The lengths of two parallel sides of a trapezium
are 21 cm and 9 cm. If its height is 10 cm, then what is
the area (in cm? of the trapezium?

Teh THeIS hT & FHT ST T oTaTs 21 AT TUT9
a1 3fe 3gdhr Fars 10 A §, O TS T THAT
@3 F) forder grem?

SSCCGL12AUG-S2: 53

(a) 35 (b) 75 (c) 150
(d) 225

(24) If the radius of the cylinder is increased by 25%,
then by how much percent the height must be
reduced, so that the volume of the cylinder remains
same?

I SereT ot B 3 25% i gafer it el g, o 3wer
Fars & frda ufaerd $ir war Hr e arfRe arfe soet
T AT FHTT 7
SSCCGL10AUG-S3 : 53
(a) 36 (b) 56 (c) 64

(d) 46

(25) A solid cone of height 36 cm and radius of base
9 cm is melted to form a solid cylinder of radius 9 cm
and height 9 cm. What percent of material is wasted
this process?

T 31 9 forgeht Sams 36 @AY, T 3muR Y s 9
a7, &, A Rgerex v 9 A Bsarqur o a.a. Fars
T Ueh B Sofel JATAT ST § | GX TR0 & Teref &t
fectaT gfcrere e g3m &
SSCCGL12AUG-S3 : 53
(a) 25 (b)0 (©5

(d) 10

(26) A solid sphere of diameter 7 cm is cut into two
equal halves. What will be the increase (in cm?) in the
total surface area ?

7 Q.HY. STH dTel Ueh SIH el 3 &1 STET AR H el
ST & | el JoOIT &1l  fohelelt gefer (F.#: #)
grefr?
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SSCCGL11AUG-S2: 53
(a) 77 (b) 154 (c) 87
(d) 38,5

(27) PQRS is a square, M is the mid-point of PQ and N
is a point on QR such that NR is two-third of QR. If the
area of AMQN is 48cm:, then what is the length (in
cm) of PR ?

PQRS T a4 &, M, PQ &I 7eY feéig & 4T N, QR R T
g 38 9 & 7 NR, QR %7 a)-faers &1 afe AMQN &
8ol 48 T.HT: §, AT PR &Y oraars ({7, #) fhasir
grefr?

SSCCGL11AUG-S2 : 65

(a) 122 (b) 12 (c) 24
(d) 2442

(28) What is the area (in sq cm) of a rhombus if the
lengths of its diagonals are 25 cm and 20 cm?
Teh A TS T AT (927 T, 3¥) T 19T, 3R
38 faenuit & dars 25 Tt 31 20 FAT. 82
SSCCGL17AUG-S2 : 53
(a) 500 (b) 250 (c) 125

(d) 200
(29) A solid cone of height 24 cm and radius of its
base 8 cm is melted to form a solid cylinder of radius
6 cm and height 6 cm. In the whole process what
percent of material is wasted?

Teh 31 9 foraeht Sams 24 QA T 3T Y A 8
T &, 1 Reeme 6 A8 ear g 6 A 39S
Teh B Sofel ST ST & | 36 W Jh0T A ot
gfaerd Jerd egd g3m 87
SSCCGLO9AUG-S3 : 53
(a) 48.5 (b) 37.5 (c)57.8

(d) 64

(30) ABC is a right angled triangle in which zA = 90°,
AB =5 cm and AC = 12 cm. What is the approximate
volume (in cm®) of the double cone formed by
rotating the triangle about its hypotenuse?
ABC Teh HHHIUT TH81ST & FSTeet 2A = 90°, AB = 5 Fal.
TUTAC = 12 Y. & | T3IST Y 38k hoT o TR T
Wmﬁﬁmg@ajﬁ?@éﬁm(ﬂﬁs #) &7 AT
TSI AT GIM?
SSCCGL16AUG-S3 : 53
(a) 145 (b) 290 (c) 435

(d) 580

(31) What is the area (in sq cm) of an equilateral
triangle of side 14 cm?

Free Study Material Join: Telegram.me/ExamsCart

14 QY. 87T dTet FTE THIOT T &TAel (97 T )

T gIm?

SSCCGL17AUG-S3 : 53

(a) 4973 (b) 98v3
(d) 49/4+3

(c) 49/2V3

(32) What is the area (in sq cm) of a rectangle of
perimeter 90 cm and breadth 20 cm?

90 =T, Fr g 37v 20 T, TerS arer U AT FT
&Il (337 A, H) FATE?
SSCCGL18AUG-S2 : 53
(a) 500 (b) 400 (c) 250
(d) 450

(33) What is the area (in sq cm) of a rectangle if its
diagonal is 51 cm and one of its sides is 24 cm?
TS T FT ST (F9T Jo. ) FAT e, I SHeT
TaehoT 51 T, & 3T SHhT Teh 7o 24 FT. 2
SSCCGL18AUG-S3 : 53
(a) 540 (b) 810 (c) 1080

(d) 360

(34) Area of 4 walls of a cuboid is 448 sq cm, its length
is 18 cm and height is 8 cm. What is its breadth (in
cm)?
Teh EaATST (B GSISS) 3l URT EIRT T &TTthel 448 T
[AY. &1 SThT iaTS 18 [T, 3R 3TA1S 8 [AY. &1 3T
TisTS (@Y. ) Far E?
SSCCGL18AUG-S1:53
(@ 10 (b)9 (8

@7

(35) What is the diameter (in cm) of a sphere of
surface area 154 sq cm?

154 37 YT, YNS &Tthel aTel Il T AT (FT. #)
FATE?
SSCCGL19AUG-S1: 53
(a) 35 (b) 14 (c) 10.5
(d)7

(36) How many spherical balls of radius 1 cm can be
made by melting a hemisphere of radius 6 cm?

6 Y ST dot Ueh 3reietier 1 Argerey 1 a1, B
FI Y 3¢ SATS ST el &7
SSCCGL16AUG-S1 : 53
(@) 112 (b) 108 (©) 116
(d) 104

(37) If the radius of the cylinder is decreased by 20%,
then by how much percent the height must be
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increased, so that the volume of the cylinder remains
same?

e SoteT T roar & 20% Y Fwelt A ST §, A 3TPr
3ams 7 forctet wfcrere it gefery el wnfew arfes aere s
I HHATA 3g?
SSCCGL16AUG-S2 : 53
(a) 20 (b) 36.25 () 56.25

(d) 65

(38) What is the area (in sq cm) of a circle whose
circumference is 26.4 cm?

39 T T &Tthel (921 QY. #) Far § forgehr aRfer 26.4
[T 87
SSCCGL19AUG-S2 : 53

(a) 55.44 (b) 44.55 (c) 33.44
(d) 44.33

(39) What is the area (in sq cm) of a regular hexagon
of side 14 cm?
14 QY. $TSTT alel Teh THSSTTRIONT FCTST T &TTthel
(@1 A, H) FHATErM?
SSCCGL19AUG-S3 : 53
(a) 14743 (b) 44143 (c) 196V3

(d) 2943

(40) What is the area (in sq cm) of an equilateral
triangle of side 6 cm?

6 WY, 87iT dTel Ueh HHSTE FAHIVT AT ATl (T3 Jal.
H) HATEHM?
SSCCGL20AUG-S1 : 53
(a) 3613 (b) 9 (c) 36
(d) 9V3

(41) What is the area (in sq cm) of an equilateral
triangle of side 10 cm?
10 QY ST aTet FHSTg FRTOT AT 87Tl (T3 A )
HATE?
SSCCGL21AUG-S1:53
(a) 25V3 (b) 50v3 (c) 75V3

(d) 10v3

(42) What is the area (in sq cm) of a circle whose
circumference is 22 cm?

Teh el T &1l (a7 Qe #) & &, Torarehr aRfer 22
[T E?
SSCCGL21AUG-S2 : 53
(@) 77 (b) 38.5 (c) 44
(d) 88

(43) A solid sphere of diameter 17.5 cm is cut into two

Free Study Material Join: Telegram.me/ExamsCart

equal halves. What will be the increase (in cm?) in the
total surface area?

17.5 T.#Y, ST aTel Teh 31 3lTel I &F IRTa HEN 7
HTET ST § | Fol Fctall ST ATl H fohelell JET
@ 2 #7) greir
SSCCGLO5AUG-S1: 53
(a) 289 (b) 361 .5 (c) 481.25

(d) 962.5

(44) What is the area (in sq cm) of a rectangle if its
diagonal is 25 cm and one of its sides is 24 cm?
Teh 3T T &TThoI(I9T T ) AT §, T 57T [ahoT
25 QY. § 3 sqehT o7t 24 [T B2
SSCCGLO6AUG-S1 : 53
(a) 186 (b) 144 (c) 132

(d) 168

(45) The two equal sides of an isosceles triangle is 20
c¢m each and the third side is 30 cm. What is the
area(in cm?) of the triangle?
Teh G ASTg 3T T @l ${eil 20 {af. & 2 ey
81T 30 W, | TH8YST AT &XThed (FaT.: ) T 87
SSCCGLO6AUG-S1 : 72
(a) 50N5 (b) 100 (c) 757

(d) 175

(46) Area of 4 walls of a cuboid is 57 sq m, if its length
is 5.5 m and height is 3 m. What is its breadth (in m)?
Teh 3TAAhelehT ST TR SIaRT 3T &TTheT 816 FoT HIeX &1

sghI oiaTS 18 Hiex 3R Fa1s 12 Hex § | sTeh Tlsrg
(FHeXH) FATE?
SSCCGLO6AUG-S3 : 53
(a) 4.5 © 3
d3.5

(47) D and E are points on side AB and AC of AABC.
DE is parallel to BC. If AD:DB = 1:4 and area of AADE is
6 sq cm, what is the ratio of area of AADE: area of
quadrilateral BDEC?
AABC #T 8113t AB 3iR AC IX D 3R E fSig & | DE, BC
F AR &1 R AD:DB = 1.4 31 AADE &7 819% et 6 97
A1, 8, A AADE o &19thel <Icfs{eT BDEC o &1l &l
37Tl T §7
SSCCGLO6AUG-S3 : 68
(a) 1:12 (b) 1:6 (o) 1:16

(d) 1:24

(48) If the diameter of a sphere is 14 cm, then what is
the surface area (in cm?) of the sphere?
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e Toh Il T AT 14 QAT &, A 3ol 7 58T & thel 3H 3T T 8T (F7 .3, &) a1 gram forgehr aikedr
(@ - /) fFraer grem? 48 T 3R dlerg 10 FaA &7
SSCCGLO8AUG-S1 : 53 SSCCGL22AUG-S1: 53
(a) 616 (b) 308 (c) 462 (a) 140 (b) 480 (c) 240
(d) 636 (d) 440

(49) The perimeter of an isosceles triangle is 32 cm (55) What is the area (in sq cm) of a rectangle if its
and each of the equal sides is 5/6 times of the base. diagonal is 26 cm and one of its sides is 10 cm?
What is the area (in cm?) of the triangle ? Teh 3T FT &A%l (F37 .3 7 ) a7 g1, R s@enr
Teh HAGaTg (37T T IRATT 32 F.AY. & 41 38 faaroT 26 & A ¥ 3R weT U o7at 10 A &2
Hcdeh ST ol 3Heh HTUIT@[S/G%I’FIT%'I ﬁﬁi’&fﬂ SSCCGL23AUG-S2 : 53

8w (H.H: /) fhaar 87 (a) 120 (b) 240 (c) 360
SSCCGLOBAUG-S1 : 65 (d) 480

(a) 39 (b) 48 (c) 57
(d) 64 (56) What is the area (in sq cm) of a rhombus if the

lengths of the diagonals are 12 cm and 14 cm?

(50) What is the area (in sq cm) of a regular hexagon 3 GHUHST 1 &l (391 HEHET 7 ) g g

of side 9 cm? 3T Aol $r ders 12 déHeT ik 14 &2

9@ &Hr sl arer T AIfAa S ST ol PR (a?‘r SSCCGL20AUG-S3 : 53

AL FA) FTe? (a) 42 (b) 168 (c) 84

SSCCGL23AUG-S3 : 53 (d) 63

(a) 50v3 (b) 300V 3 (c) 2433 /2
(d) 2003

(51) What is the circumference (in cm) of a circle
whose area is 616 sq cm?
T o o AT (. #1.) a1 & TSieehy aTthel 616 F97 4.
#Hrg?
SSCCGL20AUG-S2 : 53
(a) 44 (b) 66 (c) 22

(d) 88

(52) What is the diameter (in cm) of a sphere of
surface area 6.16 sq cm?
6.16 3T &5, gs &1 gl aTel IiTel T 1 (&
i) e
SSCCGL22AUG-S3 : 53
(@14 (b) 0.7 (c) 2.8

(d) 2.1

(53) The diagonal of a square is 10 cm. What is the

length (in cm) of its side?

Teh g T oot 10 AR B, 58 31T T il

(FEHAR) frastr 82

SSCCGL23AUG-S1:53

@5 (b) 52 (©) 10\2 Answer Key
(d) 5/\2 1 |B[2 |D|3 [D}4 |D

6 (C[7 |D|8 [B|9 |D

11|C|12|C[13|D|14|A

(54) What is the area (in sq. cm) of a rectangle of
perimeter 48 cm and breadth 10 cm?
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N[O [>w[>[>[>]0
>O[m|N[>[O|m|[m

M

Volume of

pond
30%x25xh=5%40
h=.2666m, 26.66cm

)
A/Q,
length=19x

Breadth =
11x

Height =
13x

And
length=30+height

19x=30+13x

X=5

Volume of cuboid

=lengthxbreadthxheight

T19xx11xx13x

95x55x65=339625
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A3
Diameter = 21 cm.

1 21
~ radius = —cm.
. 2
Volume of hemisphere = 5

_ 4851

DB =4 cm.

0B =2cam.
OA=V4 - 22=2V3
& AC = W3 em.

Areaof A = \T X 443 x 44/3 = 1243

(5)
Let 1st diagonal = x
Second diagonal =

Area of a rhombus = pq /2

Where p and g are the diagonals

If one diagonal = x the other diagonal = 70/100 x =
0.7x

Area of the rhombus = 1/2(x)(0.7x) = 0.35x>

Area of square of side x = x*x = x2

The ratio of area the rhombus to the area of square =
0.35x%: x*

=7:20

(6)
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Arreaa of P (RS =§><(F'5-I— QR) X SN
==X (12 + 30) X 9
=1x42%x9= 189 cm?

=

(7)

Area of 4 walls of a cuboid 400 sq cm
2(bh+hl) =400

(bh+hl) =200

(bx8+15x8) =200

8

Area of hexagon = 6 x ?X (side )
=6xX6X6=54/3

9

Peri (AXYZ) _ XY

peri (APQR)  PQ
XY

2
2 &
XY =9¢m.

(10)
area of Trapezium =§(sum of parallel sides) X

=§ X (2.56 + 3.44) X 1.44
=§ X 6 X 1.44

Req = %x 6 x 1.44 x 1800 = 7776

(1)

at+b+c 18+24+30
s = = 5 = 36

2
A= (\/'s(s—a)(s—b)(s—c))>'§
= (V36X 18X 12X6) X}
=(VIBX2X2ZX2X6X6) X}
=18x2x6x5=288

Req, = mR? - 2mr?

=1 (R% —2r?)
=22 (196 —58)

=
)

=308

(13)

{n(r): h/ n(r.): h.y = 7/3
r.=7

=713

(14)

G

B D C
Area of FGE =(1/12) of Area of ABC
=1/12 x 156

=13

(15)

diagonal=9v2

Side=9V2A/2

=9

Perimeter=9 x 4 =36

The square is converted to triangle

To from largest incircle inside tringle, the triangle
must be equilateral

The perimeter of triangle=36

Side of triangle =36/3 =12

Radius of incircle of equilateral triangle = side/2V3
=12/2\3

Now, area of circle = e = n(12/2N3) = 12n

(16)
surface area of solid sphere = 4nr?
gm’f + 3117‘23 + gm‘g = gr{RB
R=V33+ 43+ 53 =6cm
Area of 3 spheres=4n3%+4n4?+4n5°
= 4 [9 + 16 + 25]
= 4m x 50
Area of Big Sphere =4n6

(50 — 26) 14

% decreased in Surface Area = —— %100 = — x 100 = 28%
Total Surface area before
melting=4*3.14(3*3+4*4+5*5)=4*3,14*50=200%3.14

Total Volume Before=Total Volume After

4/3 * 3,14 (3*3*3+4*4*4+5*5*5)=4/3 * 3.14 * rA3
27+64+125=r"3

r=6

Total Surface area after melting =

4*3.14*6*6=144*3.14
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Total Decrease in surface area=200*3.14 - 144*3.14 =
56*3.14
Decrease %=56*3.14*100 / 200*3.14= 28

(17

B D C
€ 3cm—»
€«—9cm—>
BD = 6cm
DC=3cm
Height will be the same of both triangles

So,
Area of A = % x base x height

Area of ABD 6

(18)

Area of trapezium is 1/2 sum of parallel side
so we get 1/2(18+24)12

so 252m: is the area of trapezium

(19)

Area of AACB
= £/ x 673 x 643
= 2773

(20)

Ratio of area of two similar triangle = ratio of square
of their corresponding sides.

So,

(ratio of corresponding sides)®> = 5:7

Ratio of corresponding sides = V5 : V7

21
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Let side of square be 10 unit.
W ATQ
(IDD-H(.

2
) -100 = 169 — 100

(1oojzf200k+k~ — 100 = 69
100

K? + 200K - 6900 = 0
= K=300r-230
» K =30

(22)
Circumradius of equilateral triangle
(R) = % [a — side of equilateral triangle]

Inradius of equilateral (1)
=8/243

ATQ,

nR2 + mr* = 770

a 2 a 2
w|(2)+ G ] =770
Zle+2] =770
7 Lz 12
a? =49 x 12 = 588 cm?
= area of equilateral triangle

= 2a? = ¥ 588 = 147V3 am’

(23)

Area of trapezium
=1/,21+9) x 10
=150 cm?

(24)

Let initial radius = 4r

Increased radius = 5r

Initial volume is nir® h,
=nx16r*h,

Find volume =t x 252 x h,
n16rPxh =nx25r’h,

h./h, = 25/16

So height have to be decreased by
= (26-16)/25 x 100% = 36%

(25)
volume of cone=1/3 x 22/7 x 9x 9x 36
=22/7 x 9x 9x 12

Volume of Cylinder=22/7 x 9x 9x 9

Waste=(22/7 x 9x 9x 12)-(22/7 x 9x 9x 9)
=22/7 x9%x9x3

Waste %=(22/7 x9x9x3) x/(22/7 x 9x 9x 12)

=25%

(26)
Total surface area of solid sphere = 4 nr?r
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=4 x =/, x7/, x7/, =154 cm?
Total surface area of two hemisphere
= 3nr? x 2 (33)

= 6nr2 = 6 x =/, x 7/, %7/, 2
=231cm? L -
- Increase in total surface area = 231 - 154 = 77 cm? 24

(27) (& 45
PQRS is a square CD = VAD? — AC?
P M = V512 — 242

= CD = 45cm

=~ Required area = 45 x 24
= 1080 cm®

D

(34)
|=18cmand h =8cm
Area of 4 walls = 448 cm?
s “r 2 (1 + b)h = 448

Let side of square PQRS = x cm 2(18 + b) x 8 = 448

=~ PM =MQ =*/2xcm B=10cm

NR =%/3 QR = ?/3x cm
QN =x-2%/3xcm (35)

Area of AMNQ Surface area of sphere = 4nr® = 154

1 a a =r=35
X{2:x57/g :m2/3 = - Diameter, d =7
~x=24cm
And since PR is diagonal of square PQRS (36)
~ PR =2x = 2442 cm

iB=Na=a 2/37R® = 4/3 nr'n
216 =2 x (1)®* x n
(28) N =108
Area of a rhombus = %2 x d, x d.
=% x 25 x 20 = 250 m?

(37)
(29) rr=r&r =08r
Volume of solid cone = % x /> x (8)2 x 24 = 1609.14 cm? Now , since the volume remains same
Volume of solid cylinder = */; x (6)2 x 6 = § = 678.86 cm? nr? h, = nr? ;h,
Wastage % = =122 x 100 = 57.8% =>r2xh =08r.08r x h,
' = h,= 1.5625 h,
31) -~ Height must be increased by 56.25%

"\.'Ii o |

Area of an equilateral triangle = —a* (39)

o AB o = Area of regular hexagon = 6 x Area of an equilateral
T X 14 = 493 triangle.
=6 x \3/4 x a2

. = 6/4 x \3 x 14 x 14 = 2943 cm?

ATQ

2(+b)y=90

| +20 =45

| =25cm

Area of rectangle = | x b
=25x20

= 500 cm?

(40)
Area of equilateral triangle = V3/4 x 6 x 6
= 9V3 cm?

41
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Area of equilateral triangle = %3 a’ ATQ

- _ 4nr? = 6.16 cm?
== x 10 x 10 = 2543 cm? 2 6167
& T 22x4
r’ = 0.49
(42)

Circumference = 22 cm r=0.7cm

2nr = 22 Diameter=2 x 0.7 = 1.4 cm
r=7/2cm
Area of circle = n(r)? = 22/7 x (7/2)? (53)

— — 2

(51 . , (54)
Area of circle = nr* = 616 2(I1+b) =48

& circumference of circle = 2nr 2(1+10)=48
So, 22/7 x rr = 616 =14 cm

R=14cm Area= 14 x 10 =140cm:
So, circumference = 2 x 22/7 x 14 = 88 cm

(52)
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